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C1+C2=30000, A,-A1=10050, A=C+I=C(1+txn/1200) 1
1 C1+C>=30000= C1=30000- C>
A1=(30000- Cy) (1+t1 xn1/100)=(30000- C,)(1+10x9/1200
=(30000- C;)1.075= 32250-1.075 C;......(1)
A,= Cy (1+t2 xn2/100)= C»(1+8x6/1200= 1.04 C, .....(2)
a8 D (e 1 g ks
A>-A1=10050 =1.04 C,-32250-1.07532250-1.075 C>=10050
2.115C,=42300
1 C,=20000
1 C1=10000
1 A1=10750
1 A,=20800
Ll g g saaall
Lail) SNy il
salal) Jaze lus 1
0.5 | Me=ms(1+t)?
2435.30=2183.7(1+t)®
(1+t)3=1.115217292
T=1.115217292%3 -1 =0.037
0.5 | T=3.7%
Al el Ol | 2
0.5 | Vy=m, (1+t)™1 /t
0.5+0.5 | M,=m,(1+t)?* =2183.7(1.037)* =2030.65
0.5 | V,=24043.72
e\ 3\:9 t.JLA-A?' 3
0.5+0.5 | A=m,+I = 2030.65+(24043.72x0.037)=2920.27
Aol &ad ) Sl a2l éfl\ Ol | 4
0.5 | Vi=V, (1+4)"(1+t)5/(1+t)™1 / x=8 )
0.5 | V,=5531.67
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0.5x4 | n1=110j,n2=75],n3=45],n =120 ]

po Sl Loy
0.5 Va=Va1+ Va2 + Va3

Vn(D-n)/D= Vn1(D-n1)/D+ Vn2(D-n2)/D+ Vn3(D-n3)/D : D=4500

0.5 Vn(4500-120)/4500= 15000(4500-110)/4500+25000(4500-75)/4500
+16000(4500-45)/4500

0.5 Vn=56565.07

56200 (& AenV) Lghad Al 3aal) 48 ) o)) @laatial o) Glaa | 2
0.5 | 56200(4500-n)/4500= 15000(4500-110)/4500+25000(4500-75)/4500
+16000(4500-45)/4500

0.5| N=92j

0.5 | LasiSi 01 ps 5o Gliaiu¥) & 0
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I3=5512.5, 111=8144.47 , A= 207892.8 1
2 l11=C(1+t)°x t, I3= C(1+t)*x t

i / 15 = C(1+t)*° x t/ C(1+t)> x t = 8144.47/5512.5=
(1+t)19/(1+t)2=1.477454875= (1+t)%= t= 1.477454875Y8 -1 ... T=5%

l3= C(1+t)*x t =5512.5 2
1 C=5512.5/(1.05)?x0.05=10000

C,=C(1.05)"=100000(1.05)"=207892.8 3
(1.05)"=2.078928
N=log2.078928/log(1.05)
N=15 ans
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